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fager: Meafof@a dear swer & e e
(?) & TUT W HidA A T&Im7 3= arfge?
4.7,5.3, 6.5, 8.3, 7?

A. 10.2 B. 12.5
C. 16.6 D. 10.7
E. 9.8

e Tafaf@a gear sgar 7 ueT Rieg
(?) & T R HieT T T&IT ATTA?
7,6, 10, 27, ?, 515
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E. 124
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AT AT AT TIfeT?
11,6, 7, 16,68, ?
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E. 125

fader: Peafaf@a swer & geafeg(?) &
T 9T T ATAT IA1feT?
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fader: Peafaf@a T saensit # weaaras
Reg (?) & TAH IR FIT ATTI?
7921672737
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C. 1157 D. 1276
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forder: & a1$ H@er # ova dEam Ad H
11200, 2240, ?, 112, 28, 5.6

A. 640 B. 580
C. 860 D. 450
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fa&er: TAF v # a1 AR w1 3RII
faw arw &1 3maer Sl HEIOT T g HEAT
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AT x =y

B.altx <y

C. TG x = y a5 v wanfry 72t form =7 e
D.¥Ex =y

Eaex =<y

A& 37 Ul H A UAd A ar FHEeor
e (I) AR (1) few @@ §1 3muer &=t
THIRIOT A g HAT @RI JAT ek el
gram:

X2 - 16X + 63=0
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A.X>y

B.x>=y

C.x<y

D.x =<y

E.x =y Iq1 x dAT y H Fig A TATAT
el Thar ST F@hdr

fader: fafaf@a wea #, o wefeor & 8
g At AR F g ST JAT 3N

A LE

X2+x-42=0

y2-13y+42=0

A. x>y B. x<y
C. xzy D. x<y

E. x=y IqT GFe=Y TS g1 fohar ST
HheT &

e P weaT & o gefawor & S g
TR ST FHHION P g HLAT & 3T 3k
gl &

I.x2-7x+6=0

II. 11y? - 13y + 2 =0

A. x>y B.x<vy

C.xzy D.x<vy

E.x =y a1 &I TaY TS g1 har
HehdT

&r-Aafaf@a g & o gHeor 1 3R
II U & §| 39l el FHRION &l gol
FTh YT FT 3R ol &
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I. 2X+5Y=31
II. 7X+3Y=36
A. X>Y B. X<Y
C. XYy D. XY

E. X=Y AT GFe=YT TS g1 fomar S
TohaTl &

e Aafef@a T # W X3IR Y F ar
AT fGu = g1 3 F@HERU & ogd
FoA,TaAd X IR Y & o gEeey Ad
H|

20x*—81x+63=0

202 —y—21=0

AXx =Yy B. Y =X

c. x=Y D. Y =X

E.X = Y a1 %5 gay @uiRa a8 Far
ST FhaT

fader (13-17): GRON &7 eA=AqEaS eaTeT
N IR FEAfaf@a gt & 3OS
8% #ufadl garT Rea Fo ant & faffa
FaAT A TE&IT (FF HA)

Year— 2004 | 2005 | 2006 | 2007 | 2008 | 2009

Company|

P 48.2 | 28.3 | 29.4 | 36.6 | 21.8 | 53.0

51.6 | 36.5 | 43.5 | 18.1 | 23.5 | 35.7

32.3 | 47.9 | 25.6 | 38.7 | 50.9 | 42.6

279 | 51.5 | 33.5 | 43.6 | 44.7 | 26.5

- 0 B O

28.3 | 41.5 | 50.8 | 24.1 | 30.4 | 36.2

U 45.5 | 26.2 | 449 | 40.5 | 38.7 | 41.5

13.

14.

a¥ 2009 # Fusr R garr fAffa werAr
e AR a¥ 2008 #F FUA T ganr AT
SorHT T FEIT T AT FIAT &2

A. 152 :213 B. 213 : 152
C.71:76 D. 76 : 71

E. 517 & g oAgT

94 gy T Tl H, a¥ 2009 F &= P ganT
faffa FoaAr & ' & foras gfaed &
g ¥
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E. 94

a¥y 2007 & gefr Fufazi egrr AfFa o 73
FolAl T IFT HEAT T 82

A. 3360000 B. 336000000
C. 3360000000 D. 33600000
E. 318 & HIg o1gl

a¥ 2005 # Fosit Q garr fAfFT FoAr A
T gelt aut 7 ga% ganr AT FaAm H
Tl HEAT T I Tohelall TTcRreT &2

A. 24 B. 32
C. 11 D. 29
E. 17

¥ 2009 #F HUr S ganr AFHT FHoAr A
e AR Fuelt U g AT weat &
HEAT HT 31 54:83 Tl & foIw ol
S gart fhasr 3fF FoAr & AfAa F=
Fr 3TaLTRAr gref?

A. 80000000 B. 2500000
C. 34000000 D. 5000000
E. 59 @ 15 gt

s el # 80faganedf 3 5 et §, g3+
ot = facafiat &1 o w@@w &
15%f@ers @edr § 3R ude Rets &
faeanieat &1 e HEar H 25%fFerS Al
g1 fAersat &1 $or e Ad w2

A. 1050

B. 1040

C. feu v [Qsedi & 3ramar

D. 1060
E. 1030

&l 91sq Us &k @t 18 fAde 3R 15 BAee &
X Fhd &1 TH 33calc BT &b & 45
fAeic & "@relr A e ¢l IfG EF @relr gl
X T UST @l ST g, oF ¢k F e A

fohetel fAeTe ordmr?

A. 12 B. 11
C.13 D. 10
E. 14
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21,

22.

USh GHAGR H9el 3cUTG HI HAT H 40%
It @ Rifegd war &1 afe a8 ge 5% @
10% % 9T &dT &, af o H 35 393 &
HHAT IMTIN| Tl I8 3fhd e W 30% Te
gar & o ag Torder oyt / gifer wfdera 3fea
HE?

A. 5% aITeT

B. 2% oSt

C. 2% gifer

D. o ar gIfer o & «msit

E. 3o/ & &Ig =7¢l

T fhed RIT #, T & 100 39 W
g drehel fedhe 150 9T W 3Yaey gl
Terel 3T STerder gt A Aot RAuex i
$el &TACT 3000 HE &1 AT o9 gEage
gl & o el TsTEd 400000 T9 | Ferer

Fr &THar AT FI|

A. 2000
B. 1000
C. 1500
D. 1800
E. 2200

A 3 B T 3T T 30Tl 5: 9 &; 3eTehl SaIdl
T 31U 3:5 81 I B 3719=1 3 &1 a&F foigrs
AT S YT & ol Sofeh AT T ATl FT

g7

A.7:1 B. 8:15
C.7:20 D. 7:18
E. 7:15

fr&er (23-27): IH &1 3HeIIT ) 3R few
AT YA & W o

o guf & Al fashdr g@rr 9 91w ket 3R
arferer AR Fr FEar
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28.

mRefrigerator M Washing Machine

04 2005 2006

20013#\?2005:%3@1%@%3@113@

&?

A. 23 : 37 B. 43 :57
C.49 :52 D.33:58
E. 31 & HIg =1gr

et & @ frg a¥ &, Fa R @l ged
JfOhaa A

A. 2002 B. 2006
C. 2005 D. 2001

E. 308 ¥ HIg oTaf

fohcel auf o, For fashr 1000 & o 2Ar?
A. 1 B. 2

C.3 D. 4

E. 318 ¥ HIg oTaf

2003 & S a5 arfver #@M=r Fr g ik
few arv gsly aut & S a5 arfrer M=t dr
T & 1 IR AT HifeR|

A. 25 B. 33
C. 17 D. 35
E. A & &g gl

gfa a¥ I v hier fr 3iaa @@, 2001
H S 0 W HT & dr e gfawa

&2

A. 85% B. 70%
C. 75% D. 90%
E. A & &g gl

6 YT 3R 10 @msw @y Feaex 50 o
gl @ # 5 T &7 g o §1 Ife 6
YT F 100 fFam omae @= & 15 @At #r
AT 97T &, ar 10 A%y 50 fRam amae
gl # fRder @& g o



http://www.gradeup.com/
https://xu75j.app.goo.gl/Sjbv

29.

30.

31.

A. 17 B. 16
C. 15 D. 14

E. g8 & FI el

T 800 FIF HT ANTT & BRI 688191 Ff 8%
1 gl o ST AT I Hed A 5% AR
FH X faAr S, a sHE AT A

o A A

A. 725 B. 600
C. 650 D. 700
E. 318 & HIg =gl

Teh 3MMEHAT IR TR Teoll T 3T T eI
4:3 §14 el ST TE AT 9:7 geml I
ACT & THF 3qurdd 5:3 AT A fohcdar @rer
UEel Seeiel QAET i Ar?

A. 11 B. 18
C. 10 D. 12
E. 14

far&er (31-35): g-a€ & IWT A 3R T
AT YA F I S

6 FUfAAT GaRT 3cdieed fahd T 3HTSCAT &7
gfaerd

FUA A GaRT 3cues fRd W 3mseAT @
&A= 3960

LY
HB
mC
mD
mE

mF

A A, C 3R F garr 3curest R are
3MgAT T Fol TEAT FAT §7?

A. 15480 B. 12280
C. 14520 D. 16420
E. 3 & SIS Gl

32.

33.

34.

35.

36.

37.

Ul B 3R E @RI 3cUesT fohd 91T 3mscAt
T HEIAT T FA FT 87

A. 3680 B. 2840
C. 3240 D. 4250
E. 318 & HIg =1gl

FHT C 31 ST D & HHAT: 17% 3R 25%
3mseH f3%fFea g1 Fus C 3 U= D &
fSthfdFea Mgeal T TEAT &I 3drd F41 872

A.31:72 B.17 : 90
C.7:29 D.23:76
E. 318 ¥ HIg oTaf

FUAT E & GaRT 3cuige fohd 1T 3mgeAl fr
e, feu arv Faft sufadt & ganr 3carfed
3rseAr v ad gEar &1 Faer gfaerd 87

A. 65% B. 125%
C.70% D. 144%
E. 318 ¥ HIg oTaf

FUl F SR 3cuieel fhd 9 3mscAm
TEAT & I FeglT HIoT T §?

A. 79 °30’ B. 97 °12'
C. 68 °36’ D. 84 °24'

E. g8 & g el

THh gaa@ g # A, B3R Co 2: 3: 4
31Tl # Golt o1 ferder fhar AR 3¢ 4: 3:
2% oA H oH WIS EIHT| 3H AT FH
I AT w oEs fow o6l ar faer
TR arar?

A.5:3:1
C.3:2:3

E. $39 & FIg o7t

faf@er & @aA: 12000, 13000 3R 31000
T A e HE 9 & ggel HE W 3EA
20% T o o faar 3R qEdr W 3Ee
30% e 3o fham| afe 38T QU o3
W 40% @1 oY ol fomar| ar hredr S|
T AET Hed AT HL?

B.1:2:4
D.4:2:1

A. 30000F9x B. 10000 ¥4
C. 20000 &9 D. 15000 ¥
E. 18000%F9x
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38.

39.

40.

@ o 39 IaaT FT 13% AT W @d
X feam AW F 9/29 i I s #ir IR
3R IS qUT AT & TT & &g 9800
9L HT IR g AV & § $T 097 38 olleT
H I W F T d @ = e It w®
F forar 3R e &1 @ 3T g3 @It @
4000 T9T FA g ar dT I YRR AT
HL?

A. 12500%9 B. 1200059
C. 18500%7 D. 8000%9
E. 1600039

4

1
o HEast A 120 27 I 7l I FAF

~.
q&TT H 10a3rﬁma1veﬁ34§m31§:2
1 :

S ST g1 981 §&AT A HITSU?

A. 46

B. 48
C. 40 D. 32
E. 50

T oAl URT & Yidger 60 FhAL I gl 4
¢ H dF Wl g 3R aa Fir oafa 20
feh.al/aer & A A1 ganT 3e[darg H 4 €
HaT IS g+ g ?

A. 120 f&.#. B. 125 f.AT.
C. 100 fr.#. D. 140 f&.#.
E. 80 fr.T.

gy (41-45): JEHEN H CAEIEH
eI F IR FeAfA@dT weaAt & 3R S
FellReT, 3ARHT # v Ahfaehel Hue & el
1650 FHATN FIH T I &1 BT FAREAT
O AT AT T I 86:79 &1 FHI=ir
A Fa 5 umr nfq BemsfHer, wore,
3cTe, IG-3@E AR AT FEEA gl Fel
198 gow "fSesfaiar fqemr # e wd gl
TUTaAT AT # 18% FHAURY HH Fd E,
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41.

42.

43.

44,

fSEd gest @ Afgesit &1 Had 5:4 &l
@-@re 3T &, 77 989 &H W © § 3R
50 fasmmer & AT T T gont Hir dear
&1 5/7 &1 IO fqemer & oS Hr Hear
fEomgteer faemer & Afgensit & FEwr &
TN ¢ @@ {JAer & gt & e
AT FAYA AT 7 qeST HT wedr #
Ml §1 3cuee e A e @ At
T 3T 14:19 &l

3cutes faemer A gest T wEar fEemsfHar
fasmar & |fgeait 1 Tear i Jorelr #F fevctetr

3fas g2

A. 99 B. 91
C. 109 D. 105
E. 31 & HIg o1gl

3care faumeT & Afgenstt Fr FEar, Fuer 7
AfgeT3it A For T 1 fhaer giaed §

(3FTATToT) ?

A. 44.7% B. 45.7%
C. 48.9% D. 49.2%
E. 38.9%

W-y@e famer & afgeant i g
Barsfeer fasmer & Afgamst i e &
fhraelr gfaera &7 §?

A. 33 g% B. 66 g%
C. 6133 % D. 70
E. 308 ¥ HIg oTaf

fesefeiar, auradr 3R AeTa FaTeeT fasmer A
TH-ATY GV HAAMRAT H Fol FEAr IR
Eomsfar, T@-t@ma 3R 3cures faumT & -
g Afgemsit A Fo T & < fhder

3R &2

A. 54 B. 64
C. 35 D. 96
E. 378 & $IS =TgT
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45.

46.

47.

48.

49,

a%gwmmﬁm@rn%maﬁa:rsnzm
AT FOTI faHmeT J TUeaRa fear srar
gl ar Aot FaTee fasmer & qent #r dear
38 Jumer A ARt T gwar fir fhder
I[OT §7?(2 SUHAT TG eh)

A.1.07 B.1.17
C.1.27 D. 1.37
E. 1.32

ar TRt A 3R B & o= @ gt 200 R
gl T ¢of T A ¥, B Fr 3R 60 fh.AT/E.
&1 Ea afd & @ g Bl T 5 &
g, qall ¢ WAT B @, A 3R 80
for.ar g, & 3iaa aifa & & gidr &1 e
arr &of Th-gaX @ el A & 3w faeg @

AU

A. 100 .. B. 140 for.#T.
C. 120 .= D. 180 f&.=T.
E. 571 & FIs et

Ifg P Rl & & 30 feat &, Q 34 &1
1 36 &l & @@ X whar 5.AfE 5 foaT
AT T el & 9ATd P 1 &5 ¢ aF A
& o6 Q AV F1A T fohelel et & g1 iam?

A. 22 e B. 28 fe=T
C. 25 fes1 D. 36 f&=T
E. 34 o

Pl F AT A 25% A R g7 FEE
FRUT Teh IRAR 160 ¥9T H 1 fham &
ool Gledr ¢ aifh 386 T @I | FS
9HId o 93| Al FT aEdiaS Hed AT FL?
A. 32 ¥9a/fh.am B. 40 ¥9d/feh.amm

C. 36 sud/fh.am D. 35 sWy/fh.am

ar o a 3k b & wA: 2:3 3R 3:4 &
31U # RIS 3R 9Tl g1 A a % 20 WX
fAYOT &I b & 28 oleX AT & Ty fAer
fear S ar g Fsor F ere 3R gl
I 3T AT H
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50.

51.

A.5:7 B.7:5
4 :

C. 5 D.16: 11

E. 348 & g oTar

‘HAPPY gl & 37&RT &l fohdel 37elT-37cl9T
et & cuafeyd foar S dehdr g7

A. 110 B. 130

C. 60 D. 70

E. 80

Ay (51-55): A & I AASRT H
SIEAYdS HEITA F qAT $HS MUR W
e & 3cal ol
G,H,1,],K L M3R N 3ms &7 te drelr
g 7 3eck &1 3N 7A@ b IS &1 9 Fqafr
ST, e 3R 9ol 98eg X & IR ATGeTH
&1 fr s wF FH| e S Ao W1 98eq
FAT &, 98 M F ad ¥ I T W ST
gl I, M& 8&F I TAH I J&T 1 Th S
T[Sl &7 THee HT &, a8 [ o S § g
T W ST g1 H, N & g ¥ gay 1t
W SST B, S &l diell o F[ordl W7 98ea
AT gl K 3R o T 9o LA arel &
dg @F ar aer 8 g1 G 3R L Aean
gt & 3R a1t & drer W7 FE el A
g1 T S AR T[T 9o T g, 96 G &
e ¥ qE T W ST §1 ] qUT ATl T
JeG il dTel & &1 & oler 86 gl J drelr
T AGT oG AT &1 Th ST Alell W1 GHeg
FXAT g, 9 Ul W@ GHeq oA dTel I
fesheas gsl §1 U S 8 LT qHee Al
T ICHIT A g T W IST I MF
TeIfdal § & UF &rar T 9Heg HIAT Bl I,
9fFd & T Afedd BR T dT gl

T & @ &I 9Fd & 3ifFaq7 oR | dor
&2

A. G

B. U&h ST el 3T Ueg il gl

C. Th Y el {7 98eg el B

D. M E. L
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52.

53.

54.

55.

56.

et A @ e @1 Sy ufed & &« da A

Jor 87

A. N 3R G B.I13R G
C.M3R N D.I3R M

E. 5981 & &I et

T F & &ld GF gld ¥ IR TUT |
Jor 87

A. N B. K

C.H D. M

E. 5981 & &I et

M 5T & & FiF I1 T 9o AT 87
A. dTel B. ARG

C. e D. der

E. g8 & &I et

5T # @ *iaT a@r AT Tq@r 82

A. M-aTelt B. N-aTel

C. G-8T D. H-srer

E. g8 & &I et

fader (56-60): U a0 U H IR HUA
fer v § o A IR fasest gear 13k 2
HT IHTEOT T &1 9! U T e
HET ATAAT g, HT & I AT AT a2t
et gfl gsi fosast &y og 3 R Aok
of fou arv oSt & F FiF @ aIfFe T @
QU 9T FYAT F FAGIT: AT dzd &
TATAT AT Al §

S Yol

o O s g

HI$ HUS S T L

FE S TS

Tt T gAT (B A arelr 7ML
fasay:

1) & Trg H93 AL T

2) 3o et S T &l

A. BE T TcF AT &

B. %ael 1 6T &

57.

58.

59.

C.%ad 28T ¢

D. gt 1st 3R 2nd I §
E. g8 & &I a1el

FYe:

O dECHUY §leHh gl ¢
3T gled A AT T ¢

gl & A AT )

T 3 Terehie gl
fashy:

1) T gleh HATA oIel &l
2) g3Y gSh AT & T ol
A. S I TT eT gl

B. %had 1 T £l

C. &ad 2 TT gl

D. grr 1st 3R 2nd IcT g
E. g8 & &I a1

hYe:

sl fher #Age &l

gt Agel AP &1

TS HEblA FITe g

$S Heol FER LT &
fasay:

1) T& FER AF g Tt B
2) w8l SaTe FER & T &
A. RS off s e 7 ¥
B. %had foasy 1 @ §

C. &had [y 2 T §

D. gt faswy 1 3R 2@ §
E. g8 & &I el

S Yel:

#I P, Q el gl

FoQ, Sl

T P, TEI

FoT, Z8I
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60.

IGA: 2P

1)$5Z, Q¥El

2) @8l Z, Q AET §, U THTGT g Thall gl
A. S AT T A8 &

B. hael 1 TT &

C. %adl 2 G ¥l

D. ardt 1st 3R 2nd T &

E. 58 & g el

S Yol

S W el AL g

T il FAFHT B

TS FIR I E

o Ig O &l

IGA=a B

1) Fo o 7 Q8§

2) g W Heel 6T o

A. RS TT Fvey T T8 &

B. adl vy 1 I §

C. ad TshY 2 I §

D. gt sy 1 3R 2 a3 §

E. 58 & #1g =gl

fAdyr (61-65): T & I FEHERT FH
EIAqdh HEATA HY TAT FEh YR T
geal & Ica¥ &

Teh el AT & IRT IR 95 FFadt &
ATH AW A, AT, TH, Tsf, T, A,
woer 3T AR & (Graeys FE ¥ F s FA
& gh)| @l &7 7@ dhee; 1 3R B 3R T Fefr
faffieet Tl SR, feeel, I, sy,
SITC, leT, HES 3R AYI HY I WS
w® &l

TH HT A rEor-giRed feur A7 ¢ 3R ag
feeell &1 AT I Bl TH IR AT AT
FA dlel AfFd & TH ST gl AT AT
& Taodia a7 &, ST e T AT AL T
¢ 3R s@er efaror 1 AR g@ g T w
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61.

62.

63.

64.

65.

Y 3ccr-uRaA fem # § 3R ag At sier
qHE AT ¢l A AR ST @ §I TS
IeT ST 6T & 3R sHer g@ qa feem & et
¢ 3R ag I AR U & Hey A dor g
I HGS ST @1 § 3R a8 aiRes feem &
Y ard eafad & WA daT g1 T A qG
3ecR-qd e & &1 #ler 3R e Se v
A Tl hikd & HET A Jor safeFd HYA
ST T 8

AT & 8 T 3R Flef a7 82

A. AT B. FqeT
C. & D. 5],
E. IraT

e F @ Fle &1 oA T §?
A. THY IR ST I@T &

B. Afee #YIT ST W@ &

C. AT AYIT ST T &

D. T IHATH g ST T &

E. IS SIQR S @1 8

LT IR WY F AT A Ao 7 F Fi 3R
g feem & dor &2

A. 13, 3cR-afaH

B. I, @@

C. Afeqa, afRas

D. AT, gfgor

E. T[], 3ccR-qd
greror-afRgs feem 7 &l deor §?

A. TR B. IH
C.Ufea D. T&AT
E. 9]

gwmaﬁaﬁw%—r%&awqmﬁrﬁa
JoT 8?

A. 9 B. T
C. Ufgd D. AT
E. 15[
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66.

67.

68.

fader (66-68): FHAAI@T TR Y
HAYdH T¢ 3R M RRw weal & 3car &
da Afedt arer T gRAR H 316 TS -
A, B, C, D, E F H3R Kgl Fa&r g
| D T ATS FET &, S B # 9T g1 F 3N
D & fqatg Th-gEY & AT g3 &l H, A F
THATT 9T § 3R A Ja7 H e &1 Fis
Rl AT &l dhadl Ueh Tdarfegd S & v
HTeT 8 Thell & 3R Icden faarfed g &
T Td gl E 3R A gaa O & gefaa
Y 1 C, oY faarfead &, K & &1 7igt &1 A,
B ¥ farfegd &, S F T BIeX 31 o &1 E &l
Th A% g, St K &1 97 o8 g1 E 3R KT
& 91§t & FET §1 D 3R E &7 fdar th ga@y
¥ 7€l g3 &1 K, B T HeleX el &l

B® Tesl # H I g yoR Tafaa 82

A. grar (Azae) B. 9T (IzBeR)
C. 9 D. gIHAG

E. g9ay

F3R ASF o a7 gy g2

A. A F&r f@ar gl B.F, A& 97 &l
C.F,A®r d9iar gl D.F, A& a¥Fg gl

E. A, F &I BeX-g1-all (¥R &l

F& dcsl & C form g @afaa g2

A. C, F & §& %I

B. C, F &I Ut &1

C. C, F &r fa¥cyg-at gl

D. C, F&r Ot &1

E. C, F &r A gl

A& (69-73): AT § I FTHENT F
SIEAYES HEITA Y TAT $Hh IUR W
gt F ek 2l

F fay FT g F,

‘facing problems with environmental
health’ @ ‘mlp hlt ngi snt tgt ’ for@d &

Latest Sarkari Jobs, Govt Exam Results,
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69.

70.

71.

72.

73.

‘health problems on rise standard’ @I" hit

sa rtv mlp rts’ for@a &

‘rise with every environmental
challenge’ #T ‘snt rtv Ine riy tgt’ for@a &
‘facing challenge each day life’ @ ‘ngi riy
nop hus pzy’ for@a &

‘environmental is each long life ’ &I ‘tgt
pzy wxy hus ugp’ for@a &

‘problems facing each challenge’ & fow

" e T g1 Fehell &2

A. mlp ngi hus riy

B. hlt ngi pzy riy

C. [a&eg (A) 3ryar (B)

D. pzy tgt riy ugp

E. pzy tgt riy snt

% ‘rts uqp nop’ & T 7 @ frw FuA
& forw waer fohar s g7

A. on day is

B. facing problems with
C. health on rise

D. facing challenge each
E. environmental life long

g7 *health problems rise standard’ & fow
&e *hit mip rtv rts’ &, @ ‘standard’ & faT

e T Gam?

A. mlp B. ugp

C. rtv D. snt

E. rts

& a8 AT A ‘problems’ & fAT FAT Fe B2
A. mlp B. rtv

C. hilt D. I (A) 31¥ar (C)
E. rts

&I I1$ $T A ‘environmental challenge’ &
faw & ge §?

A. tgt ugp

B. rtv tgt

C. tgt riy

D. fased (A) 32T (C)

E. 318 & ®Ig 61
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74.

75.

76.

77.

gy (74-78): A & IS FEERT
AAYdh HETTA H{ TUT S MUR T
gl F ek 2l

3TS HAANT A, B, C, D, E, F, Gdar Ht&
FUA H HH HA g SN I HAG Bad,
30T, SIS AT 3ITET H TH IR 10 AT 18
TR F Teh IAEIT TISE GRT FA AT &
ATuT CF 1T Hhad ol eTiod eRT ad
gl B 3H HAgl # gt axar ¢ 5@ 30 &
3% foaT g €1 G du1 E & &9 Had 2
gFd ST Fa &1 E,G ¥ Ugel gRT Far gl
E fralt off 7y &7 18 arlr@ &1 alkr &gt
FAT g1 FIar H & g shael ar safea gy
A & F,H @ ugel ERT e & dur 39
7S 7 alr A Rar § S 31 R @
g1 A3T 7 & ST 18T Far § 5w\ 30
feoT 81d & 3R B, H ¥ ugr ar a1 & gk
et el g1 C, G & &b Ygel aRT &Icll &
JuT B, A & 8% §IG eRT &Xam gl B3R D
F o & v afFa gy aRar ¥ |

D et 7 & fFd #Q & gRT & &2

A. BIET B. 3tder

C. S D. 3mrEd

E. 318 & 1S a1

et & ¥ HaT 10 30T FF SRT =T &2
A.D B.H

C.A D.B

E.E

Cdur A& a9 fofder safea alr & g7
A. IR B. et

c.ar D. T&

E. I3 =gl

Ifg ga wall IfFadt & IR & i a&
uTHATT A H TARYT o § o fhder
FAaRAr 1 afa A= e

Vacancies and updates on one click

A. IR B. d=T
c.ar D. T
E. 1§ 81

78. IR EA DA GIUr AT C& X & fafdat

H AT A SGaT gd g ar A9 G& &g

forder cafda g

A.ar B. et
C. % D. IR
E. IS 18T

& (79-81): AT & T FTER @
CIAYGH  IEATA HY TAT FHRI a7
HA U oAl & IR

O TYfalc FATT dee, Aefold, soldh, didd,
FET AT AT 100 HeX #¥ als 7 alsa §l
3 Tl Rffes TuEt 7 &y & @ = §
Soih YT Slee &l & [ A H HAW
9.98 ¥Hs TUT 9.68 Vhs ot gl didel o
Faer @ wgfoel & arg &l @ qot faRa
FICY THATT Afad & oaa dcfad & dga
dUT solh & dg s H qor fHar see A
als FET Sl

79. dls # clsd @A da & i@ afa @=r

g?

A. 11 Hrey/ass B. 8 HlX/A%s
C. 6 Hiey/aHs D. 2 HreX/a$hs
E. 10 Hex/qhs

80. fu uyfde & &ls &I U & & fav

9.72¥%hs F 34Ed Ty forar?

A. dec B. drdel
C. defost D. #1eT
E. 3T
81. o1 & & fohw wafoe & 71fa 9Ffec/dss
§?
A. Tider B. dlec
C. X D. defost

E. a1 a e a1 Aefad
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82.

83.

84.

85.

Aéer (82-86): fTAfaf@d STHRT T
eeqdd 96 IR A T T st & IeeaR
&

O SilFd Th-g@ & FW W ¢ §| derd
P 3R sfF@ R& &I 5 g &1 aiFd T r
S R & & FW @M 37 §| S Z,
T R & I Hgl @1 31 gl g T 3R
diFE S & &g i died I 97T gl Siad P
3R S & & drFm Fr FEar 97w T AR Q
& g diFg Hr &I F A gl VIR S
& AT g f §&ar Q AR Y & AT died
T FEAT & FAA gl died U &l died Q &
AT Afha P& I I@r 3T B St W, X
& I del @M T gl U 3R V& T FHad
U SiFg IW@T 3T g1 R H 12 A A dSiaq
W AT gl AT ST RAT P & & T
S @ I ¥ St Y @ oateE Q ¥ AR
@ AT gl

& IS cyaTAT A Siew W HT FIT TAT 87
A. S der B. 3 & dter

C. 39 ¥ grgar D. T & ol

E. s & far

et & @ Slordl &1 Hiel AT JIA HAA: deFH
S & & IW R A @M =T 82

A. U 3RV B. P3iRV
C. S 3R R D. T3R W
E. R3R X

Sig X 3R P & i fovder afeq W@ 1w §?
A.3 B. 5

C. D. 4

E.2

X # fordel sied W 710 §?

A. 8 B. 12

C. 11 D. 10
E.9

Vacancies and updates on one click

86. [ & & ol T/F FUT T 8/8?

I. T3IR Q& T ar araw &l
II. S, W & &y 3@ = gl
III. U, P & & FIW IW@T 1T ¢l

A. Fad I B. &haer II
C. &g III D. I 3R II =t
E. II 3R III g1

A& (87-89): Arfaf@d SR &I
e ¥ 9¢ IR A I I geal F 3w
&

T S fwg PR Wl §1 a8 39 ufRas
T 3R Tl JRFEST AT § 3R 5 &l ol
a6 St 3R Fq3ar § IR 6 A goA § a«
g St 3R AT & 3R 3 7 Fert ag ardt
3R Fsar & 3 2 7 T ¥ 3k g R
T 9ETAT § A9 98 Sl 3R Az & AR 6
AN gerar & R 98 gt 3R ASAT § 3R 5
A FefRY feg Q W Ik I &

87. e feg TTeg Q& 4 # ™A # ¢ a9

g P& @ & fdeg T fhcel gt W 82

A. 127 B. 10
C. 137 D. 113
E.o#
88. fdwq P& Tesl & fdeg R feifaf@d & @
forer feem o &2
A. 3cR-afas B. efeior-qd
C. grayor-afas D. feyor
E. 3cR-qd

89. IR g SToeg RF 8 A 3cR A & dd

=g P& dest & fdwg S forw foem & &2
A. 9feas

B. 3caR-giea#H

C. gfaror-ufan

D. gfgyur

E. 9@
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90.

91.

Teh FJHYUE HEAT GEhel d1 RO Sife
AN A 3Tg New W o Wiea Hr A
FT A AT &1 T FA e §| TEAwS
¥ g HigH H T Tilcsh A& & omerd
P A H W@ & dg e FioreT o T
b &I ottt # 20 el s 1.7 fAferaer
SR ¥ ’WF FAT ThaT &1 FelIRET
HRTET Taeafacarery & Afahr 3R 370
# 3l 3 9rg SHRE 132,000 3feR
oISl 3reTgeT F nfAer Foel F 12% W
Wﬁ%ﬁj’r@mmﬁrgé%,m%
o 20 gut d& feorll foor & dar S
B JoreTr A SR ey @ ggarr gl
W&rﬁﬁﬁaﬁmﬁm##mw
sy 22

A. sfereTer ARG farafacarer dar &
gfear arodll gedd d £l

B. BTF dfeld Shell Hl T UTRATRS
HSSTH § 3Thr wiE # g & fo
X Bl

C. 3N # R 18 a¥ & gar 3resT
AR T F AT Frelet ST B

D. &iclsl Toh geftrscargol f=aer gl

E. 93 30x T390 fauR & fod 3iftehd
gl

faéer: te Fua & a1 i FRAGARE & 78 B
el gur anfe & fov srfaEr & 78 B
YA H eTAYEF T¢ AR AT A
3cdl &

Yol

fSeR & & 17,685 It W U e &,
TATELT HAT HISA 18 o AUTTAT F FgTl
FRAERE:

I. 9B~ PR & T & 31 it i
H1T & foIT dehrer FeA 3o AT

I1. IR EFR A Acdrged ATA Y&TeT Fair
TIeT o Af0e § 3fe o Rfecar
#r oS ud 3R siFey & T FH TS Soi

Latest Sarkari Jobs, Govt Exam Results
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92.

II1. TarEey AT o Gefl anat & Fellfasr
& HEAT A Jefd HEN ARl

A. I hael HRERET 1 3TER0T Il &

B. af& el QT 11 3TaT0T Fcl §

C. g 13 I Qe 31eferoT atelr §

D. & 11 3R III 31TaT0T Xl &

E. If& g 3HeTETOT & el &

A& e FUA F a6 AT ey T |,
I, 3R III U a1T §| 39l Ul A Her
AT § dlg I AHTT: Ad 92 & et
gl g 8l 39 I§ T HT gren &
FiT a1 sy, Ife Fg g ar U 31T FHya
FT IHTEROT F TET ¢

hYe:

Jaew $EIege fSfoea =ga1 RaC & am=w
T ® R Ad A g RS YE gl &
SIE @ Aere AT H1 3IAT - S HEgH
- FAMAR & foIU ggell a) &3¢ FAT IRHA
g I gl

weat:

1. Gearg 1 Jofell & Ao HTSAT W wAholl
gR, 315 IR S @t sl § el g
II. 31 |9 & qTasg, FANST IR Farsr A
el et & 3rfepier «er drerer AT @
HYA @I 9o W T Al

I11. T $Eiege f3foee Ruiéy sffeterse
FAMR 3uNFAt & ufafafar adaor &
YR X Bfoicd AR @99 & aR 7 o3
HaEfee geohe ST B

A. a1 AT fhar ST Fehdr Bl
B. Shael I 1 AT fRam ST Fhell &
C. hael 111 &I 3FATAT AT ST el B
D. I 3R III gl &Y AT foham S
ghT Bl

E. II 3RIII @kt & 3egarfad fehar s
ghT Bl
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93.

94.

fader: e wed A v FYT & @ FO
3gATT feT 91T B Uk 3rgaAreT Al forar
37YaT YA ared gl gl 3T &y AR
3% qRAd U AT AR R AR X
IR g & & Rl @ A YT A
’ gl

ol

7€ A g U ol & JfreheR difgd safea
aifaf cafdaat & fav arer & ¥a §,
geut & ARed &9 @ fay fRar Sien
By

AT

I. ey # 3FR T cafFa AR I
1L ger 7 Ager safaa o AR I 8
II1. getil &I 3Taegeh &9 & FaRIer kel g
FC IO THE 8 TS &

A. del AT 11 3R 11 3iafafed 8

B. &haol 3TAT 111 3idfeiied &

C. &hdel AT 111 3R a1 ar 137 11
Jafafea &

D. g8fl 3eTATeT Jiafaifed &

E. a8 & &I e

®H FHI o TAT T AT © b ol T
AT H Fhgor el S G yer R
JTT &, o o eAan &F ae & aig dol
ST & 3ar AfEar & A8 g § AT =9
STg UX 3eTehl Gfcl &hdaTT el 81 hidel g
1 TS I ddelfe H aead I § 6
e R @Aftad A9 W FF &
HTaRTFAT el ¢l 3eo Ay 7 o & o
HTALTFAT oTel & ST TR HAhA T FAT HI
Hgcd HA AT S @ ¢l

frrafaf@a & & #fa @1 st swdwa
IAFR & IUGFAA § A S FHar 2
A. TSThel & AT H TTT &1 3T glelr
Uh HEY 91d &l
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95.

B. i & gaTcg SeTg g anfed foad
o FETRY 39T & e &1 3R T Fgordr
q a1 X Thl

C. 3ifPT Fad 1T = & O afes
HEIT T HIGAT QA T Th deT g

D. 3 9T BRI T YT 3T TAAT & HH
N gl

E. ®X & H1H Fl, HURE AATEROT & HH
FT Fr UET 3AF IS gl

fader : A& 9ot & $o FYal & g
o Ty 7 3 g1 o 7 yEt @ we
HA §T, A AT o Hler a1 sy &G
T HYA B OIAEOT AT g AR 3T
fAeq & 3cR & ¥7 A T

Y

M= G, T = B, P<R=S, Q=P, G=T, Q>B
rsay:

I.M>B

II. T<P
A. de Ry [ 9T §

B. shael sy Il @ &
C.arar sy Iar 1T &
D.aradl sy Iar &Y [I T &

E. g sy I 3R sy 11 3T §

Direction (96-105): Read the given
passage carefully and answer the
questions that follow. Certain words are
printed in bold to help you locate them
while answering some of these.

Gender neutrality, also known as
gender-neutralism or the gender
neutrality movement, describes the idea
that policies, language, and other social
institutions should avoid distinguishing
roles according to people's sex or
gender, in order to avoid discrimination
arising from the impression that there
are social roles for which one gender is
more suited than another.
Proponents of gender neutrality may
support public policies designed to



http://www.gradeup.com/
https://xu75j.app.goo.gl/Sjbv

eliminate gender distinctions, such as
gender-neutral bathrooms, with public
restrooms being available without
distinguishing the gender of the person
using them. It has been observed that
gender neutrality in the law has changed
the nature of custody disputes, making
it more likely that men will be awarded
custody of their children in the event of
a divorce.

The legal definition of gender has been
a controversial topic particularly to
transgender people; in some countries
in order to be legally defined as a new
sex people must first undergo
sterilization. An issue related to gender
neutrality is the gray areas that exist in
gender. Trying to legally define the
boundaries of gender has proven a
difficult issue with the existence of
people who identify or who are identified
by others as intersex, third gender,
transgender and more generally gender
queer or non-binary.

Someone who identifies as gender blind
takes the perspective of gender
neutrality in everyday life. Similar to this
is pan sexuality, where the person is not
necessarily totally gender blind, but in
their sexual preference they make no
distinction between the genders of their
sexual partners.

Gender-neutral language, gender-
inclusive language, inclusive language
or gender neutrality is a form of
linguistic prescriptivism that aims to
eliminate (or neutralize) reference to
gender in terms that describe people.
This can involve discouragement of the
use of gender-specific job titles, such as
policeman/policewoman, fireman,
stewardess, and, arguably, chairman, in
favour of corresponding gender-neutral
terms such as police officer, firefighter,
flight attendant and chairperson (or
chair). Other gender-specific terms,
such as actor and actress, may be
replaced by the originally male term
(actor used for either gender).

Latest Sarkari Jobs, Govt Exam Results,
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The pronouns ‘he’ or ‘she’ may be
replaced with ‘they’ when the gender of
the person referred to is unknown. Some
also advocate for a gender-neutral
pronoun to be used even when the sex
of a person is known, in an effort to
remove the alleged subconscious effects
of language in reinforcing gender and
gender stereotypes. In addition, those
who do not identify as either female or
male may use a gender-neutral pronoun
to refer to themselves or have others
refer to them.

"Gender-neutral language" should not
be confused with "genderless language",
which refers to a language that does not
have grammatical gender.Gender
neutrality = emphasizes the equal
treatment of men and women legally
with no discrimination whatsoever. This
goal is in principle shared with both
feminists and masculists. However, in
gender neutralism, the emphasis is on
transcending the perspective of
gender altogether rather than focusing
on the rights of specific genders.
Gender neutrality or "gender
transcendence" is part of the trans
humanist concept of post genderism.
Advocates of post genderism argue that
the presence of gender roles, social
stratification, and cogno-physical
disparities and differences are generally
to the detriment of individuals and
society. Given the radical potential for
advanced assistive reproductive options,
postgenderists believe that sex for
reproductive  purposes will either
become obsolete, or that all post-
gendered humans will have the ability, if
they so choose, to both carry a
pregnancy to term and father a child,
which, postgenderists believe, would
have the effect of eliminating the need
for definite genders in such a society.
Source:
https://en.wikipedia.org/wiki/Gender_n
eutrality
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96.

97.

98.

99.

100.

Which of the following best describes the
term ‘gender neutrality’?

A. The idea that advocates for more
power to women

B. The idea that advocates separation
of social roles and gender

C. The idea that backs the policy
separation for men and women on the
basis of gender

D. The idea that stands for the rights of
both men and women

E. None of the above

Which of the following defines the cause
of concern of the post-genderists?

A. Gender roles must be reversed.

B. The presence of gender creates an
imbalance in the society

C. Gender discrepancies are inimical to
the society.

D. Gender segmentation stratifies the
society, already struggling with multiple
stigmas, into yet another division.

E. None of the above

Which of the following defines the perks
of lingual prescriptivism?

A. It aims to neutralize reference to
gender in terms that describe people

B. It involves the encouragement of
gender-specific speech to give
everyone equal importance.

C. It helps create a language that
doesn’t have grammatical gender

D. Both Aand B

E. None of the above

Which of the following justifies that
defining gender is a controversial issue?
A. It has never been talked about
overtly.

B. It creates an outlandish situation for
the people who don’t belong to the two
conventional genders.

C. The government doesn’t back overt
discussions on gender-related issues.

D. There is a lack of research data on
the non-conventional genders.

E. None of the above

'The advancement in technology helps
bridge gaps between the desired and the
impossible." Which of the following
justifies the statement in the context of
the passage?

Latest Sarkari Jobs, Govt Exam Results,

101.

102.

103.

104.

105.

106.

A. Advanced researches have shown
that the options to switch genders will
soon be available free of cost in
government hospitals

B. Advanced researches have shown
that reproduction will soon become
obsolete

C. Advanced researches on
reproductive options have identified
that soon the post-gendered would be
able to bear a child.

D. Advanced researches have shown
that the conventional genders will soon
stop desiring for a new generation

E. None of the above

Which of the following is the MOST
SIMILAR in meaning to 'dispute'?

A. Squabble B. Apostle
C. Concordance D. Causatum
E. Imprint

Which of the following is the MOST
SIMILAR in meaning to 'perspective'?

A. Dissension B. Condemnation

C. Prospect D. Exponent

E. Sympathy

Which of the following is the MOST
SIMILAR in meaning to 'transcend'?

A. Consonance B. Initiate
C. Bolster D. Outstrip
E. Urge

Which of the following is the MOST
OPPOSITE in meaning to 'reinforce'?

A. Reciprocity B. Concord

C. Culmination D. Tout

E. Undermine

Which of the following is the MOST
OPPOSITE in meaning to 'stratification'?
A. Denouement B. Outset

C. Unison D. Cessation

E. Repercussion

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

Brain scans can detect autism long
before any start to emerge,
say scientists. The earliest that children

Vacancies and updates on one click


http://www.gradeup.com/
https://xu75j.app.goo.gl/Sjbv

107.

108.

tend to be diagnosed at present is at the
age of two, although it is often later. The
findings could lead to an early test and
even therapies that work while the brain
is more .

A. manifestation, menacing

B. symptoms, malleable

C. expositions, perilous

D. arrays, vulnerable

E. None of the above

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

The first of gravitational
waves at the US LIGO laboratories in
late 2015 has been described as one of
the most important physics
breakthroughs in decades. Being able to
sense the warping of space-
time that occurs as a result of
cataclysmic events offers a completely
new way to study the Universe, one that
does not depend on traditional telescope
technology.

A. apprehension, moderate

B. cognition, protracted

C. detection, subtle

D. erudition, protracted

E. None of the above

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

The central bank’s monetary policy
committee has to sit pat on
rates and choose to give time
to “assess how the transitory effects of
demonetization on inflation and the
output gap play out.”

A. chosen, out

B. picked, themselves

C. opted, itself

D. opt, themselves

E. select, it
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110.

111.

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

Excise and customs collections are also

projected to grow at a sluggish
, which means the
government is that the

impact of demonetization on consumer

spending will last longer than expected.

A. rate, answering

B. celerity, renouncing

C. pace, acknowledging

D. hobble, abjuring

E. shuffle, condoning

Directions: A sentence with two blanks

is given, each blank indicating that

something has been omitted. Choose

the pair of words that best fits in the

blanks.

We are always by the fact that

the finance ministry will have limited

resources, and won't be able to
us more investment. So, for

the first time, we have looked at extra-

budget resources.

A. driven, gives

C. limited, gave

E. constrained, give

Directions: A sentence with two blanks

is given, each blank indicating that

something has been omitted. Choose

the pair of words that best fits in the

blanks.

The company's economic advisor has

B. repressed, gives
D. persuaded, give

rightly identified procurement as a
major to ensure that
production cost does not crash

the end of 2016, leading to
a contraction in acreage in 2017-18.
A. threat, approaching
B. problems, near
C. key, of
D. point, at
E. challenge, towards
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112.

113.

114.

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

Many big businesses realize that by
simply listening to and understanding
the needs of their disabled customers, a
rich new stream can be opened
up. It is not about charity, though. It
makes hard business sense to address
the needs of this

A. revenue, demographic

B. swift, fraternity

C. remolded, confraternity

D. transfigured, assemble

E. None of the above

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

Amazon, more than any other
company, has the ability to create a one-
stop, one-click shipping portal that
would vastly the process for
manufacturers while making it easier for
them to track shipments.

A. possibly, obscure

B. maybe, mystify

C. frankly, decipher

D. perhaps, simplify

E. Unlikely, elucidate

Directions: A sentence with two blanks
is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.

Navigating the of social
media without upsetting an individual
takes serious concentration but the
internet provides people with a degree
of which goes a long way in
facilitating them to speak their minds
out.

. folio, consciousness

. epoch, apprehension

. convictions, rapidness

. nuances, anonymity

. None of the above

moOo>
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115. Directions: A sentence with two blanks

is given, each blank indicating that
something has been omitted. Choose
the pair of words that best fits in the
blanks.
An unquestionable can be
seen in video games where women are
sometimes portrayed in games
ludicrously and inappropriately dressed
for the situation they are in- as if
cleavage was a more
effective defense than body armor.
A. felony, enticing
B. transgression, tantalizing
C. absurdity, exhibiting
D. malfeasance, enthralling
E. None of the above
Directions (116-120): Rearrange the
following six sentences (A), (B), (Q),
(D), (E) and (F) in a proper sequence to
form a meaningful paragraph, then
answer the questions that follow.
A. The city’s bowl shape and the fact
that its lock gates cannot be opened
when the rising water level coincides
with high tide causes waterlogging.
B. More worrying is the disappearance of
the city’s green cover, recent satellite
pictures show it has dipped to less than
five percent.
C. The civil body over the past few years
has taken a series of steps including the
construction of new pumping stations,
increasing the number of portable
pumps and dredging of canals to
improve the system.
D. The East Kolkata Wetlands are
considered as the city’s natural kidneys
because they treat the city’s sewage
naturally.
E. “"But there is a limit. There won't be
any water logging if it rains at the rate
of less than 10 mm per hour. If the rain
is more, there would be waterlogging,”
said Tarak Singh member-mayor-in-
council of Kolkata Municipal Corporation.
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116.

117.

118.

119.

120.

121.

F. According to a report from climate
central a US-based research
organization, Kolkata along with Mumbai
are among the top 10 megacities across
the world that face a serious threat due
to rising sea levels owing to climate
change.

Which of the following will be the Last
sentence after rearrangement?

A A B.B
C.C D.D
E.E

Which of the following will be the Fourth
sentence after rearrangement?

ACA B.B
C.C D.D
E.F

Which of the following will be the second
sentence after rearrangement?

A.E B. D
C.C D.F
E.A

Which of the following will be the First
sentence after rearrangement?

AL A B. F
C.B D.C
E.D

Which of the following will the Third
sentence after rearrangement?

AL A B. F
C.C D.B
E.E

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

The Christians and Marxists, (1)/ who
once critiqued (2)/ capitalism, have
found out that (3)/ their ideologies are
no less regressive. (4)

A. 1l B. 2
C.3 D. 4
E. No error

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

122.

123.

124,

125.

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

This three philosophers share (1)/ a
methodical, deliberate and an (2)/
almost plodding approach (3)/ on
philosophical puzzles. (4)

Al B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

In the present era of ubiquitous
technology, (1)/ philosophers are
beginning to (2)/ ask whether the
biological anatomy (3)/ really captures
the entirety of whom we are. (4)

A. 1 B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Besides the headline-making cases of
mass shooters, (1)/ their are thousands
of instances each year (2)/ in which
police authorities try (3)/ to get access
to encrypted devices. (4)

Al B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.
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126.

127.

128.

128.

Without a pen or a pencil, (1)/a great
deal of complex reflection (2)/ and
analysis would (3)/ never has been

possible. (4)

A. 1l B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Instead, they were (1)/ unwilling to
accept (2)/ which social theory is
actually (3)/ valid knowledge in the first
place. (4)
A1l

C.3

E. No error
Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Liza demonstrated the point (1)/ for
great elegance using a (2)/ battered and
stuffed robin, (3)/ bought for a shilling
from a junk shop. (4)

B. 2
D. 4

A1l B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Stromatolites would have appeared
somewhat like (1)/ ancient fossilised
coral reefs, (2)/ if those reefs have been
(3)/ built by microbes rather than coral.

(4)
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Al

C.3

E. No error
Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Although, the provenance of this
particular (1)/ paper had nothing to do
with the (2)/ archives, despite a copy of
it (3)/ being held in the collection. (4)

B. 2
D. 4

Al B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

This aesthetic purism was in (1)/ part
determined with the association (2)/ of
flash photography with (3)/ newsmen
and commercial agencies. (4)

A. 1l B. 2
C.3 D. 4
E. No error

Direction: Read the sentence to find
out whether there is an error in it. The
error, if any, will be in one part of the
sentence. If the given sentence is
correct as it is, mark the answer as "No
error". Ignore the errors of punctuation
if any.

Its brevity and literary passion (1)/ has
seen it join that small club (2)/ of
philosophical texts that the (3)/ general
reading public are capable of enjoying.
(4)

Al

C.3

E. No error

B. 2
D. 4
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132.

133.

134.

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., 'No correction
required’.

Mark and I managed to straighten
down the house before our parents got
home.

A. Straighten up

B. Straighten along

C. Straighten across

D. Straighten at

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

The car was blocked by other vehicles
and would required considerably
manoeuvring before she could leave.

A. Require considerably

B. Required considerable

C. Require considerable

D. Required considerate

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

To gain this, an extensive propaganda
was carried on by secret agents, many
of whom were officers.

A. Extensively propaganda

B. Extensible propaganda
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136.

137.

C. Extension propaganda

D. Extensively propagandas

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

If she have seen the ice on the road,
she would have slowed down, and she
wouldn’t have gotten in an accident.

A. Has seen

B. Had seen

C. Would have seen

D. Would had seen

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

His plans to trek through South America
fell upon when he got sick.

A. Fell across

B. Fell down

C. Fell along

D. Fell Through

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case

the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

John Taylor Gatto criticizes public

schools because they are compulsory,
funded by the government, and
normalizing.
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138.

139.

140.

A. Government-funded

B. Funding by the government

C. Have been funded by the
government

D. Government-funding

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

We were not able to stay overnight at
the hotel since we did not reserve a
room in advance.

A. Did not reserved

B. Have not reserved

C. Had not reserved

D. Has not reserved

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.

I am not paying attention while I was
writing the letter, so I made several
mistakes.

A. Was not paying attention

B. Am not attentive

C. Were not paying attention

D. Have not been attentive

E. No correction required

Direction: In the given question, a part
of the sentence is printed in bold. Below
the sentence alternatives to the bold
part are given at (A), (B), (C) and (D)
which may help improve the sentence.
Choose the correct alternative. In case
the given sentence is correct, your
answer is (E), i.e., ‘No correction
required’.
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He failed to recognize the pressing need
of reform within the church and the
tremendous dangers which threatened
the papal monarchy; and he
unpardonably neglectedthe spiritual
needs of the time.

A. Unpardonably neglected a spiritual

B. Unpardonable neglecting the

spiritual

C. Unpardonable neglecting a spiritual
D. Unpardonably neglecting the
spiritual

E. No correction required

Direction (141-145): Read the given
passage carefully and answer the
questions that follow.

A recent report released by the Housing
and Land Rights Network (HRLN) on the
Smart Cities Mission poses the question:
“Smart for whom?” It also states that in
2017, forced evictions and demolitions
of homes were documented in 32 of the
cities participating in the Smart Cities
Mission. While many of those evictions
were related to the mission, demolishing
slums so that cities conform to the
aesthetic norms of a “world-class” city,
without taking into account the paucity
of formal housing that cities offer, has
been a long-standing practice. At least
six homes are destroyed and 30 people
forcibly evicted each hour in India as
authorities modernise cities and build
highways.

The "smart city" idea is extremely
attractive, especially to the middle and
upper classes who experience Indian
cities as being anything but smart. It is
a concept frequently thrown about but
lacking a clear definition, though at
heart it has emerged mainly as an
instrument to make cities more
competitive in economic terms. The
Smart Cities Mission focuses on smart
grids and devices to generate economic
growth, create wealth and sizeable
demand for rural and agricultural
products, thereby enabling the shift

from  subsistence to commercial
agriculture.

The future is becoming dangerous
because increasingly, government
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policies and investors are driving the
grand concept of a country awaiting the
Big Bang take-off by turning the existing
multinodal urban sector into centralised
industrial corridors punctuated with
lumps of smart macro cities and
satellites. This is assumed to be one way
of beating a modern identity into shape.
By investing the international currency
of debt in new urban infrastructure, the
government hopes that national income
will rise and a smart, supranational
identity will emerge to show off to the
developed world. It seems difficult for
the planners to realise that since the
beginning of the last century, despite
the spectacular growth of urban
populations, the poorest half of the
world has received just 1% of the total
increase in global wealth. Simply
complying with investor directives and
accelerating urbanisation to zoom ahead
seems to be illusory and dangerous
because that is the way to debt slavery.
Over the last two decades, the state-led
production of space, as part of worlding
cities, has introduced new structural
violence into the lives of poor groups.
The three main mechanisms have been
adopted to produce space—
infrastructure and mega-projects,
redevelopment, and creating exception
regimes for “slums” are applicable to the
implementation of the Mission. The state
that enacts structural violence through
worlding processes is strong in its bid to
open up new spaces for capital
accumulation that integrate specific
economic circuits, classes and groups
“globally,” while weak in its
responsibility to protect and strengthen
the life chances and claims of poor
groups/spaces, is also one that can be
used as a framework to understand how
Smart Cities might not translate into
inclusion. In fact, it does exactly the
opposite. The urban local bodies (ULBs)
seem to have been severely
compromised by the Smart City Mission.
Source:
https://www.epw.in/engage/article/if-
smart-cities-exclude-the-vulnerable-
who-are-they-smart-for
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According to the passage, what’s so
smart about the Smart Cities?

A. It emerged as an instrument to
make cities more competitive in
economic terms.

B. It uses information and
communication technologies to increase
operational efficiency, share
information with the public and improve
both the quality of government services
and citizen welfare.

C. It is extremely attractive, especially
to the middle and upper classes.

D. It directly addresses the
opportunities provided by renewable
off-grid production to increase
employment and diversification in the
rural economy, with a particular focus
on India’s rural youth.

E. None of these.

Which of the following statement is true
with reference to the report released by
the Housing and Land Rights Network
(HRLN)?

A. It states that the goal of several
cities to become ‘slum-free’ without
including concomitant indicators to
assess the realisation of this target
could promote evictions and the
destruction of low-income settlements
under the guise of creating ‘cities
without slums.’

B. It retorted a question, who are these
smart cities meant to benefit?

C. It states that the Smart Cities
Mission seeks to cover nearly 10 crore
population in 100 cities; but it suffers
from a lack of consultation, which has
resulted in eviction, displacement of the
poor and farmers.

D. It pointed to the lack of an
integrated approach and focus on
marginalised communities in the Smart
Cities Mission and called for a more
inclusive approach.

E. It states that at least six homes are
destroyed and 30 people forcibly
evicted each day in India as authorities
modernise cities and build highways.
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144.

Which of the following statement cannot
be deciphered from the third paragraph
of the passage?

A. The new Indian urban landscape is
being designed around grand concepts
such as smart cities and export-
oriented industrial corridors.

B. Despite the spectacular growth of
urban populations, global wealth
inequality has certainly been high and
rising.

C. In our desire to be global, we are
emulating outdated models of
urbanisation and economic progress
borrowed from nations that have grown
rich through questionable means.

D. Simply complying with outdated
models of urbanisation and creditism is
a way to debt slavery.

E. The government hopes that foreign
debt in new urban infrastructure will
help in the rise of national income and
an emergence of a smart, supranational
identity.

How does the smart city proposal
actually do little to streamline any
policies towards inclusion?

I. By often perpetuating the very issue
that they aim to solve.
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II. The nature of the state that enacts
structural violence through worlding
processes is simultaneously “strong”
and “weak.”

ITI. By being weak in its responsibility to
protect and strengthen the life chances
and claims of poor groups/spaces.

IV. The urban local bodies (ULBs) have
been severely compromised.

A. Both II and III

B. Both III and 1V

C. I, III, IV

D. II, III, IV

E. All of these

Which of the following statements
cannot be inferred from the passage?

I. Infrastructure and mega-projects and
revitalisation are the main mechanisms
that the Smart Cities Mission claim for
its implementation.

I1. The state-led production of space
bids to open up new spaces for capital
accumulation.

ITI. Urbanisation has introduced new
structural violence into the lives of poor
groups.

A.Only I

B. Only II

C. Only III

D. Both I and III

E. Both I and II
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